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[Use a separate Answer Book for each group]

Group — A
Answer any one question : [1x10]

1. a) Write down the model for analysis of one-way classified data, stating clearly the assumptions
and the null & alternative hypothesis. [5]

b) For examining the effects of 5 manures on the field of wheat, an experimenter divided the field

into 35 plots & assigned each fertiliser to 7 plots at random. Part of his calculations are shown

below : [5]
Source of Variation df SS MS
Manures 720
Error
Total 6420

Carry out the ANOVA at 5% level of significance.

2. A student analyzed data for a one-way analysis of variance situation for which there were 3 levels of
the factor, and 21 people measured at each level. Unfortunately after running the analysis, the student
lost the computer output. He said “All I remember is that one of the mean squares was 100 and the
other one was 500, but I can't remember which was which. Oh, and I remember that the p-value of
the test was 0-01.” Based on the information, construct the ANOVA table with detailed explanation.
[Some p-values corresponding to observed F Values (with d.fs 2 & 60 respectively) are given below

to help you think:] [10]
F-value | p-value
0.9 0.41
1 0.37
2 0.14
Group — B
Answer any three questions : [3x5]

3. What do you mean by sampling bias ? Explain different types of sampling biases.

4. Write down the difference between SRSWR and SRSWOR. State two situations when two schemes
are equivalent.

5. Obtain the standard error of sampling mean in case of SRSWOR.

6. Define statistic and parameter. Explain why the standard deviation of a statistic is called standard
error ?
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